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aO-F # X A HE R E =

001 T &F H H 518 543 643 1,186
002 T X i) 710 780 799 1,579
003 | + FH H H 354 331 316 647
004 | 4% 54 i) 953 1,130 1,068 2,198
005 | K i3 i) 713 778 857 1,635
006 E B F H 1,304 1,492 1,427 2,919
007 | #& s i) 163 2217 197 424
008 5 it fr 775 852 918 1,770
009 | K & i) 569 728 7217 1,455
010 R A fiT 1,202 1,488 1,554 3,042
o1 | £ & F #r 736 840 873 1,713
012 th # i) 898 1,082 1,248 2,330
013 5h H fT 556 682 746 1,428
014 = [R i) 843 1,002 1,018 2,020
015 | & BX i) 112 132 155 287
061 | XFEHE —TH 30 29 19 48
062 XEBEZ-TEH 224 198 195 393
063 | XFEHE=TH 12 29 38 67
064 XEBETWMTEH 93 79 114 193
071 | £%KAB—TH 34 30 35 65
072 HSHARM_-TH 226 218 188 406
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081 | M HT — T B 0 0 0 0
082 | ® BT = T H 27 738 88 826
083 | M1 BT = T H 151 143 156 299
091 il % BT — T B 75 73 93 166
092 | f kBT = T H 80 231 374 605
101 A E—TBH 106 106 93 199
11| FrE@EH—TH 106 126 115 241
112 | FrE@EEZ-TH 81 63 63 126
113 TEHB=TH 95 97 106 203
114 | FEEEETAH 155 146 162 308
115 TEHBAETEH 143 120 155 275
116 LTEHBEATH 139 118 134 252
117 +TEHBETEH 122 130 156 286
118 | FEMHEEIATAH 168 158 150 308
121 ERFH—TH 70 64 79 143
122 | EBFHM_TAH 55 69 67 136
128 | EBFHEI=TH 64 60 75 135
124 EBFHMTH 66 69 53 122
125 ERBFHATEH 85 94 97 191
126 EBFEATH 141 123 125 248
127 EBFHLTEH 136 92 145 237

| =) &t 13,090 15,490 15,621 31,111




